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BIOLOGY

The deficiency of which of these

In the below diagram, identify the part 4.
which  connects  the  peripheral elements interrupts photolysis of water
microtubules to the central sheath. : .

during photosynthesis ?

(A) MnandC/

(B) Znand Cu

(C) Caand K

Interdoublet
bridge (D) NandP
Central 5. InC, plants, C, cycle takes place in
Radial microtuble
spoke (A) Mesophyll cells

(A) Plasma membrane (B) Bulliform cells
(B) Interdoublet bndg.e (@) Compentowcelis
(C) Central microtubule e et
(D) Radial spoke s o e ot
The element whose percentage weight 6.  During Citric Acid cycle, the various
is highest in both earth’s crust and organic acid undergo decarboxylation.
human body is ; Which of the following organic acids
(A) Hydrogen of the above cycle have 4C, 5C and 6C
(B) Carbon respectively ?
(C) Oxygen (A) Oxaloacetic acid, Citric acid and
(D) Calcium Succinic acid

(B) Succinic abid, a-Ketoglutaric
Identify the event in n.leiosis mediated acidand citric doid:
by the enzyme recombinase.
(A) Synaptic pairing (C) Pyruvic acid, Malic acid and
B) Termithlization - a-Ketoglutaric acid.
(C) Crossing Over (D) Pyruvic acid, a-Ketogluetaric
(D) Interkinesis acid and Cirtic acid
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7. Consider the following statements 9. Match the different types of
regarding . photosynthesis and Leucocytes (Column-I) with their
respiration in plants and select the percentage of occurrence (Column-II)
correct option. in a healthy adult human and choose
I. RuBisCO has high affinity to the correct answer.

oxygen in low CO, concentration. Column-I Column-II
II. The Calvin pathway occurs in the (1) Neutrophils (p) 6-8%
chloroplast of bundle sheath cells of (2) Lymphocytes (q) 60 —65%
55 e () Monocytes (1) 0.5-1%
III. Yeast poison themselves when the (4) Basophils (5) 2-3%
concentration of alcohol reaches 7%. : g 5
IV. Oxygen is.a final hydrogen acceptor (3)7 < Eosinophils (?) 20=23%
during aerobic respiration. Choose the correct option :
(A) Statements II & IV are correct, (A) (D-(@),(2)-(r),(3)-(s) (4) (1),
I is wrong. (5)-(p)
(B) Statements I & II are correct 1AY (B) (1)-(), (2)-(s), (3)- (1), (4 -(q),
is wrong. (5)- ()
(C) _Statements I & III are correct, 11 (C) ()-(q).@2)- (1), (3)- @), @) -(s),
i g, (5)- ()
(D) lSsta;l’tir)r:lents I & 1V are correct, III D) (- Q) -®, 3)- @), @) - @),
» (5)-(s)

8. Match the digestive glands given in :
Column-I  with their respective 10. In which part of the human brain
enzymes given in Column-II and corpora quadrigemina is located ?
choose the correct combination from (A) Forebrain
the given options. (B) Hindbrain

Column-I Column-II (C) Midbrain
(1) Pancreas (p) Pepsin T O el Remiinh
(2) Gastric glands (q) Enterokinase (D). -Cerebral hemisphere
(3) Small (r) Ptyalin
intestine 11. A girl after attaining sexual maturity
(4) Salivary (s) Trypsin shows development of growing ovarian
glands follicles, development of mammary
Choose the correct option : glands and high pitch of voice. These
A) (D-@),2)-(@),3)-(), 4 -(s) changes are attributed to
B) (1)-(s),(2)-(p), 3)-(q)(4)-(r) hormones.
(C) (l) - (l'), (2) < (q)s (3) = (p)a (4) -(s) (A) Melatonin (B) Estrogens
(D) 1-@,@-6).3)-0,@-@ (C) Progesterone (D) Androgens
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12. In apple, the chromosome number of
gametes is 17. What is the
chromosome number in its Primary
Endosperm Nucleus (PEN) ?

(A) 34 (B) 68

)17 (D) 51

13. Identify the vegetative propagule ‘M’
in the following diagram :

(A) Bulbil
(C) Rhizome

(B) Offset
(D) Runner

14. During an excavation of soil, Pollen

: fossils were retrieved from deepest
layer of soil. The pollen grains
remained as fossils because

(A) The intine of pollen grains is-

made up of pectin.
(B) Exine has spiny Ornamentation.

(C) Thga exine of pollen grains is
highly resistant to enzyme action.

(D) Pollen grains are
reproductive structures.

asexual

1%

16.

17.

Identify the mismatch.

(A) Antipodals — Haploid

(B) Zygote — Diploid

(C) Synergids — Diploid

(D) Primary Endosperm Nucleus —
Triploid

Identify the correct order of events in
pollen-pistil  interaction from the
options given below :

I.  Release of male gametes into the

embryo sac.

II.  Deposition of pollen grains on
stigma.

III. Entry of pollen tube into embryo
sac.

IV. Development of pollen tube

V. Entry of pollen tube into  the
Ovule.

(A) IVoIll->I->I1->V

B) I>IVoVoIl-I

C) M>IVoIlll->V-ol

(D) VoIVl ll-1

Match the months listed in Column-I
with the organogenesis of foetus in
Column-II.

Column-I Column-I1
(i) Firstmonth (a) Separation of
eye lids

(ii) Second (b) Hairs on head
month

(iii) Fifth month (c) Heart

(iv) Sixmonth (d) Limbs & digits
(1) (i) (i) (iv)

A) © (@ (@@ (b
B) (®) (¢ (@ ()
© @ () (© (@
D) (© (@ () (a
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18. When the fallopian tube is blocked at
ampullary region, the ovum fails to
move from

(A)
(B)
©)
(D)

Isthmus to infundibulum
Ovary to ampulla
Isthmus to Uterus

Infundibulum to Isthmus

19. Identify the cells represented as p, q, r
and s in the schematic representation of
Oogenesis, shown below and choose
the correct option.

(A)

(B)

(©)

(D)

p - Ovum, q - Oogonia, r -
Primary oocyte, s - Secondary
Oocyte :

p - Secondary Oocyte, q -
Primary Oocyte, r - Ovum, s -

‘Oogonia

p - Ovum, q - Secondary Oocyte,
r - Primary Oocyte, s - Ovum

p - Oogonia, q - Primary Oocyte,
r - Secondary Oocyte, s - Ovum

20.

21.

22.

Which of the following contraceptives
could be effective in avoiding
pregnancy if used within 72 hours after
casual unprotected intercourse ?

(A) Androgen - FSH
combination

(B) Testosterone — Relaxin
_ combination
(C) Relaxin = — Oxytocin
combination

(D) Progestogen — Estrogen
combination

Choose the correct statement regarding
the GIFT (Gamete Intrafallopian Tube
Transfer) procedure.

(A) Ova collected from a female
donor are transferred to the
fallopian tube to facilitate zygote
formation in the recipient.

(B) Zygote is collected from female
donor and transferred to the
fallopian tube of recipient.

(C) Zygote is collected from a female
donor and transferred to the
uterus of recipient.

(D) Ova are collected from a female
donor and are transferred to the
uterus of recipient.

Which of the following characters was
not studied by Mendel in his Pea plant
experiments ? :

(A) Stem height (B) Pod shape
(C) Seedshape (D) Leafshape

Biology
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Boewerd  TOBPFEYS  Sosmeks 27. 3 %NS RNA v Jp canaed
ToODFB0Z, TR, RTHBA. TedeadsS  sSdokomert eadee
(A) T[T  wWRTHT dégﬁ &Bﬁgﬂfﬁﬁi O;zimﬂraemﬁ 8@
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i R08T0e¥cdn HoxOAE RNA odd),
24, OB YD wemﬁﬁﬁgﬁ}ﬁﬂo@?ﬁ !bCSQ rretdoROR0e, , DFTT
AR, 0
1 s = X B B0, WIRERIT.
XoBORTOOWBD. VTT F, ~OﬁU’ﬂ’h"§Jq (B) Hodesxoss i Snks
s %
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25, A o33 roosd ney o, B oK 29. DNA wovi) QZemSmoN Fom,2ad
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23. In an Organism, mutation in a single 26. The length of DNA helix in a typical
gene exhibits multiple phenotypic nucleosome is
expressions. Identify the underlying (A) 200bp (B) 1000 bp
genetic ‘mechanism in the above (C) 32x10°bp (D) 6.6 x 10°bp
instance. :
(A) Pleiotropy 27. -Which of the following types of RNA
' carries amino acids towards ribosome
(B) Incomplete dominance during translation ?
(C) Polygenic inheritance (A) rRNA (B) dsRNA
(D) Multiple allelism (C) tRNA (D) mRNA
28. In eukaryotes, the entire base sequence
24. A pure breeding pea plant with round of a gene'do not appear in mature RNA
yellow seeds was crossed with pea because
plant having wrinkled green seeds. On (A) transcription in  eukaryotes
selfing of F, hybrid of his cross, 64 it o ndn o
. . - (B) coding sequences are removed
progenies were obtained in F, during processing.
generation. Find out the number of F, (C) introns are removed during
progenies  showing  non-parental PEOCEISIES.
characters. (D) some gene sequences are
' removed by exonuclease.
(A) 36 (B) 4
(€) 12 (D) 24 29. Suppose DNA samples collected for
DNA fingerprinting analysis are less
than the required quantity. Which of
25. A man with blood group A marries a the following techniques is helpful to
woman having blood group B. The make the samples sufficient for above
lysis ? '
maximum possible blood groups among i :
; ] (A) Electrophoresis
their progenies are
: (B) Chromatography .
(A) ABonly (B) A, B, AB | © PCR
(C) A,B (D) A,B,AB, O (D) DNA probing
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30.  yDedod Enee) BBV o EReRT T3 34, TR RIT DO WYLRS T3 IR
RGO, wATR, E LIRS i QY QURTTIRCIRNT.
SoTekodd ANEE MRNA ¢uSmRodm) (A) P8 Snen ARG
FOOTHTTRIT. DFOTIT BT (B) =80 doert admw
(A) 20T wxcdeds ToBmod (C) Reyod doert Adpegs
(B) 2.0m JsF T8 Sos@ek (D) - 3380
(C) 20T TR_Lan, L3 STk
(D3 g CHIRR M 35, domy orodnvRy  owbsomd
31. Qe@E DNA' em80edsn, hosmes BUCDRRZH, DFoTT
0 R8O BodTHS mRNA (A) enso  ~ dork,  wenner
RO, BRI Lelives roTde. REQ0TTONTOZS.
DNA 3'- ATGCATGCATGC - 5' (B) wanw 8O3 womosner
(A) 5'-UACGUACGUACG -3' .
(B) 5'-TACGTACGTACG -3' SR SRGom b
(C) 3'-UACGUACGUACG - §' (C) oIy Zomsr TR
(D) 5'-GCATGCATGCAT -3' T,EbFROSS,
32. onv T o2 CeBmen  yiewc (D) oY IFpessTe) .
BRnemT* CIRJYTON ? :
(A) Rpecoozt 36. CINT IOW, eI WrOLdEed, g
(B) oRnemox O G, T FedROIT ?
(€) wmscinemox’ (A) A oEngs (B) S0l
(D) & Fouee (C) GABA (D) BomR*
33. wom X, IRTTY,, Toy ©303
SICHNGY) R WITYDL 8,03 37. RARPACHOI WeIIWRTY, ARerdIY
&z,;mhcé@. B TRBE  odnPYde =TS =
-
REND DF,T SIOSTY, BeodTde). (A) Angoh caear,oprs
T LURBTRCQIT w,8 38 woded
e (B) mmxeoa@@mvm
(A) %DIRedY  (B) ROFH, OIS (C)  Rp¥od &0
(C) : Xépt’ﬁdta (D) Wes (D) &8 mswons greznsd
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Injection of an antidote against

30. When Escherichia coli cells are 34.
cultured in a medium where Lactose is snakebite is an example of
absent, the ‘i’ gene of Lac Operon ; 7
continues to produce repressor mRNA, (A) Innate immunity
because it is (B) Active immunity
(A) anon-coding gene. 2o :
(B) ' operior gerle. (C) Passive immunity
- (C) a constitutive gene. (D) Auto immunity
(D) a structural gene.
31. For the given sequence of DNA, 35. Certain tumours are called malignant,
identify the complementary sequence because
of bases on its mRNA from the options (A) They are confined to specific
given below : locations.
DNA 3'- ATGCATGCATGC -5' 3
(A) 5 - UACGUACGUACG - 3' (B) They invade and damage
(B) 5'-TACGTACGTACG - 3' surrounding tissues.
(C) 3'-UACGUACGUACG-5' (C) They show contact inhibition.
PR b i i (D) They are not neoplastic.
32. Which among the following was the
biggest land dinosaur ? 36. The transport of which
(A) Stegosaurus neurotransmitter is interfered by
(B) Tyrannosaurus rex cocaine ?
© Br.achlosaurus (A) Acetylcholine (B) Serotonin
(D) Triceratops
(C) GABA (D) Dopamine
33. In a population of plants, some were
extremely tall and the remaining were : ;
extremely dwarf. No plants of the 37. In the life cycle of plasmodlum,
population showed intermediate height. fertilisation takes place in
The type of operation of natural A Sali lands of it
selection in the above case is VL S Cr
(A) Balancing : (B) RBCs of humans
(B) Directional (C) Stomach of mosquito
(C) Stabilizing :
() -Dikcaptive (D) Liver cells
Space For Raugh Work
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38. 2o B deend T 3decg¥ Erodoos 42. dovd O3 RoXOMORY, OSeoDs
Brassica & 9. ﬁom;dﬁodba‘% &g, 03 msgsmmdoda
(A) TP IRWTO* Tonxend, Kdowd
(B):" R dempt (A) =5 daved oo T
© 5-'3’«’5 B Bor0BNT Sohen xTVOD
(D) T e SR,

39. ©oreed gachg B NS CIRS XX,
SOTROBER), e %3, B0 Lo (B) = ReSTOmMONDE L mTe
WG, DY 2 WeRsomy — deved  Re0IY,
(A) =P Lorwos BREONRRIROIT.
(B) =, Oa%=R (C) = ¥ ©don evsEs
(€) A sOog=n RB0D IRBIS.
@) medﬁm ; (D) amd davhd 203 WodT

40. FRNFEN STRTOTX, BROOT s ‘Sgsthaet
voerd S8y demn vy XY Shan W
VRS FOFTLHTT) TOOT QLT
(A) 838 ToenzzF 43. Do TBT W TWHAW I
(B) w0 xosore SHOEYS o), ReT) werdrIng,
(C) %ROBEI8 3¢ NOBGF STS FRTHD Bt IRELD WY,
(D) evZoTTrae 39 XoITFS Qn DFTT,

41. 10T FATFTOOW ?v"ﬁéﬁa U d@%ﬁ‘ (A)° IRII 3§ﬂmg5©m 533@?5992553:
Foornds 63, Aocodd IodB. 3 now.
Jooro  Aeeosd AFO0m  Woch
Ro33cHE %oasao T3 m;ﬁ*:@ (B) ﬁu%eiraw LOT Moderor xﬁad.
VRWTODT 303, ZRIT MO (C) ¢%on IR Foo,drext
(A) 338 xo8or 3R,
L (D) =nIST w3l vod Spodeeds
(C) =pecd ToRNRBE e 2 e ~
(D) ZREnedoeRs’ o
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38. White rust resistant variety of Brassica 42. In sewage treatment, secondary
is
treatment i considered  highl
(A) Pusa Sadabahar ST oo re i
(B) Pusa Swarnim significant, because
(C) Pusa Shubhra (A) It helps to remove debris from
(D) Pusa Komal
the sewage.
39. Which of the following plant tissues (B) It reduces the BOD level of
cannot be used as explant in tissue
culture ? sewage.
GOSN (C) 1t helps in the production of
(B) Parenchyma
(C) Sclerenchyma biogas.
(D) Collenchyma (D) It increases the organic content
40. The hybridisation between naturally S iewags.
incompatible plants like Potato and
Tomato can be achieved through
(A) Artificial pollination 43. Ruminant animals can digest cellulose
(R’ ROmpauc nywidisation in their food, where as human beings
(C) Conventional breeding 8
(D) Mutation breeding are unable to do so. This is because
(A) Methanogens are present in
41. A chilly plant was severely infected :
with Chilly Mosaic Virus (CMV). human gut.
Identify the technique that helps to g
raise virus free plants in the next (B) Cellulose is a complex sugar.
generation from the above virus
infected plant. (C) Cellulose reduces the bulk of
(A) Artificial hybridisation food.
(B) Meristem culture : :
(C) Self pollination (D) Mcthanogens_ are absent in
(D) Hydroponics human gut.
Space For Rough Work
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44. ira&g_’daa 22,803 ToINY 47. RNA a:bqsagdeééocfoq dsRNA 205
Rocdrensdnvg,, 369 SHROY ToI/ NP R, i fevoucin
roTOSA. (A) mRNA o O%,0308
(A)  ©Redon’ = ST R (B) gne3deon0on EnednmE RNA
(B) =edon’ =2 Qe wWodes’ o moned
(C) BUTBT T STHIT (C) mRNA o3 T, 853
(D) STEIT IR, (D) wee Fdesor
48. 1%eds OINVY,, TNTTTYS 1R, 300D
45. WCARORF LTI neg, TonR Fooe Reeoss $ToRE T Ars
SoTok JrRF S ZRTTNG. WYBOWOT TG, TONG.
(A) q,cam (B) 63 Begne3 (A) 2O e3gd%o’ (B) DNA xeﬂaai,c‘
(C) wdeood (D) X, Redned C) a0 (D) %.83. 9 &
49, JPUHLMES WA aa‘.raoairaﬁw =
46. T3 I TEQPATOS wndecw Her NS ol mraeiramb h“h‘dﬁ@ﬁ
WEITOREY, M T N 2omd ATODTZMOFHRY, ?
ROTOSATOT LNNYS), TIZRA. (A) 28  Heg o9 TIT
Wells g : ©080THPTO ATHE.
| Zgﬁ:, P /' (B)  irish Saoenivan Smemr monaacD.
L_ﬁlll Yo g K=l (C) eo3nF3 =3,005, 1 aco8.
3 (D)  2dne e o0, dpesBeesns
N TR,
o AR ¢ e 50. =owE - (:‘o‘s-‘ (Verhulst-Pearl) 3
e
G TGRS S 88 vSioh TR0ETHTY, T
(B) M—@gdﬂ&.a&‘.a. W, 0T, 8053 % AU,
N - SS'GR TR 3.2 10, 00° g_N_er(K B NJ
(C) M- aédm%mcs 80T, R,00° dt K
N- e&a&ﬁamd 8.7 . W, 0T SR ﬁzﬁm'maﬁ e
(D) M - 838G B8.05 .. tR,0F, (B) myMSYvoecsoend
N - 3803 mE 8.05°.2. 13, 05° () Reesme
2 (D) z:&x‘oanzt plelaftc
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45.

WellsZéﬂ
ey / ;s /7
ek / ,; / 4

From the given combinations of steps
in PCR, identify the enzyme dependent
step/s.

(A) Annealing and extension
(B) Annealing and denaturation
(C) Denaturation and extension
(D) Extension only

Biolistics method is suitable for gene
transfer into

(A) Viruses
(B) Animal cells

- (C) Bacteria

(D) Plant cells

Identify the labels M and N in the
following Agarose gel electrophoresis
representation.

/

T

M N

(A) M - Digested DNA bands
N — Undigested DNA bands
(B) M — Hybridised DNA bands
N — Unhybridised DNA bands
(C) M — Largest DNA bands
N — Smallest DNA bands
(D) M — Smallest DNA bands
N — Largest DNA bands

47.

49.

50.

_In RNA interface, the dSRNA molecule

prevents :

(A) transcription of mRNA

(B) transport of RNA from nucleus
to cytoplasm

(C) translation of mMRNA

(D) aminoacylation

Now-a-days, the early diagnosis of
bacterial or viral infection in humans is
possible using

(A) Serum analyser

(B) DNA sequencer

(C) PCR

(D) CT Scan

Which of the following features of
plants is not helpful in adapting to
desert life ?

(A) Presence of thick cuticle on the.
' leaf surface ‘

(B) Leaves modified into spines

(C) Presence of sunken stomata

(D) Absence of trichomes on leaf
surface

In the following equation of Vcrhu]st -

L

Pear]l logistic growth the letter ‘r
denotes

_c_l__I\l =rN ( w22 )
dt K
(A) Extrinsic rate of natural increase
(B) Intrinsic rate of natural increase
(C) Carrying capacity

(D) Population density
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53.

(A) ©CatEn (B) o

© ag (D) 290D

& WS emd  XoTeodd
TG, TRNLIETes #2008 ‘M’ &) robex.
X%, - e M| - TR - B

(A) Sev
©)

(B) Enee
(D) &3008Y

WOT0 WOW [TeTNT) 83 L0n TOXT

SR8, TORIOIR T, ToRRRN BeDNTRY

&oeriordd sochHen.
(A) SROIGRC Ties
(B) Toowowm T
(C) myRecd Iy
(D) uT,zIre Ilens

54.

5S.

56.

B NIJYNVY, oD w¥ - IS
ROTE 50 EOINYY, Fewr BPHOY ?

(A) c?%eow TR, S
(B) awmdwg
(C) m:saakgeoia Spank

(D) eSrteey doexen e

& WAIPNVY, oRFY I

TegFoIRNG ?

(A) wwESoodE  wmIes Seioly
TN,

(B) Boosdsd  Tomosdwy wowd
FANFE LT, RTINS,

(C) onedn, 833 Q0T AkNEDS
RhpeSoNYY,  womd  FINFE
DT, TRIZTNS.

(D) ITITE, me%nw Wdnes®
0, £3NOTT TORTTFTONG.

LR0RE Reper 1 T, CAROONT ST,
RO  TS-VI Qmmfﬁgt o3
QFR0BR0T LVESRAEAY - 3eTordges ?

(A) 1 e 08,2020
(B) 13 =ea2021

(C) 1 Je=3:302021
(D) 10 Je¢ &3%owof 2020
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51. The shape of the pyramids reflects the 54. Which one of the following is not
growth status of the population. included under in-situ conservation ?
Identify the type of age pyramid (A) National Park
represented  below  for  human
population. (B) “Senctuary

: l——-l (C) Botanical Garden
I I (D) Biosphere Reserve
| | ]J 55. Which one of the following is a wrong
= | statement ?
(A) Ascending (B) Expanding (A) Most of the forests have been
lost in tropical areas.
(C) Stable (D) Declining i
(B) Green house effect is a natural
phenomenon.

52. Identify the possible link ‘M’ in the (C) Eutrophication i a natural
following food chain : phenomenon in fresh water lakes.
Plant — Insect — — Snake — Eagle (D) Ozone' in upper part of the

atmosphere is  harmful to
(A) Rabbit (B) Wolf animals.
(C) Frog (D) Ichthyophis
56. According to Supreme Court of India,
) SR ruling with respect to ‘Bharat Stage
33 The or'ga'n'lsms which Tnvade a b-are VI Noftts T ol dhis. these are
area to initiate an ecological succession : .
supposed to be implemented in the
are known as
country ?
(A) Key stone species (A) 1% April, 2020
(B) Climatic species (B) 1% June, 2021
(C) Endemic species (C) 1* January, 2021
(D) Pioneer species (D) 10" December, 2020
Space For Rough Work
Biology 19

:
gcollegedunlas
India’s largest Student Review Platform



57. il 0Qme ddeognd SnFnivay mell
QIO tumETRnvecdn BeodA.
Te3-1 Ted-11
(1) FeeRpex®  (p) TIRO0DIF
(2) CRRERABT  (q) BYFerOoD
(3) vrecliefpuxt (r) wwrte
(4) D ECRRALT (s) TeAcD
ROCINT BRowoeIFodT wod) Tna :
A D)-E).Q-6.0)-0.@)- @
B) )-@),2)-@E:6)-06),@-

©) (1)-(,2)-),(3)-(q,4)-(s)
D) M-@,2)-@),3)-6),@)-(@

58. B3 %NS SNeFEOrm IOV FFCILRY MR
TN WETIVY,  ReRHI LoD
Lo i

(=)
1

i a_]
(C=dcs) w;'l

i ’
(FewniF)

(é&!] (meorw x3)

(A) p-amE, q- MIRTIRTRY,
r— %?-3', s — thn,gper

(B) p-mEedasng, q- ams,
r- hngpea,; s - a:z("i?s‘

© p-vmeed, q- 7T,
r- @mﬁ%mw, S - QM3

(D) p-omB, q- mERIRERE,
r- t5en,3ped, s - az,'-'u;#

59. 2 PHRICHA, ERUTOS BRIF rt T’
R, oS,

(A) RT3 (Sepal)
(B) TJRT¥ (Petal)
(€) == =3,z (Tepal)
(D) Rme=Tes (Perianth)

60. mIT Sedodg , W), DT, PFOID
3, Ieewn, ey I woRmY
R, NTS, REARTE. essuodorwowos.
g0 YT TN TR, wIR0DTN .
xogERoRTOISS. QTETWTTT TTED

(A) TS ¥ Fed Ty Hoad, oD
TEOF OO, NOTOII.

(B) Y3 oOMYY FI|IOQD
AR ATIT.

C) =98 g woQgeTRr
EReBneTOZ:S.

(D) Hend onowm mag_,
Ay o evslelanty]

Space For Rough Work

Biology

20

gcollegedunias



57. Match the following classes of Fungi 59. Identify the floral unit ‘I’ in the given
(Column-I) with the examples
(Column-II).

Column-I Column-II
(1) Phycomycetes (p) Penicillium
(2) Ascomycetes (q) Alternaria
(3) Basidiomycetes (r) Albugo
(4) Deuteromycetes (s) Puccinia

floral diagram.

Choose the correct option :

| A) (-@.2)-6).3)-(®.D-@
B) (D-@,2)-(/P)B)-(s)#H- (@)
©) M-, 2)-P)3)-(@,@-(s)

(A) Sepal
D) 1)-@),2)-P).B)-()#-(@)
(B) Petal
58. Observe the following simplified
scheme and choose the correct option (C) Tepal
l that matches with the letters given in (D) Perianth
the boxes.
Vertebrata ;
‘ (Division) EE
60. A student observes grass and Hibiscus

i Iil ‘ plants in his garden during noon. To

{T.acks Taw) (ch Ta) his surprise, only the leaves of grass

Super Class were found rolled inwards. The reason
|

could be o -
E_!__] (A) presence of more number of

(Bear fins) (Bear limbs)
tomat the grass leaves.
(A) p- Agnatha, q - Gnathostomata, . Erapherlos
- r- Pisces, s - Tetrapoda (B) undifferentiated mesophyll in

(B) p - Gnathostomata, q - Agnatha,
r - Tetrapoda, s - Pisces

(C) p - Tetrapoda, q - Pisces, (C) presence of Bulliform cells in the
r - Gnathostomata, s - Agnatha

(D) p - Agnatha, q - Gnathostomata,
r - Tetrapoda, s - Pisces (D) due to higher rate of transpiration.

Space For Rough Work
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7. Last Bell will ring at 11.50 am, stop writing on the OMR answer sheet and affix your left hand thumb impression on
the OMR answer sheet as per the instructions.

8. Hand over the OMR answer sheet to the room invigilator as it is.

9. After separating the top sheet (Office copy), the invigilator will return the bottom sheet replica (Candidate’s copy) to you.

NOTE : In case of any discrepancy between English and Kannada Versions, the English version will be taken as final.

:
gcollegedunlas
- India’s largest Student Review Platform

B 24




	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9
	Page 10
	Page 11
	Page 12
	Page 13
	Page 14
	Page 15
	Page 16
	Page 17
	Page 18
	Page 19
	Page 20
	Page 21
	Page 22
	Page 23
	Page 24

